

演習問題

① 次を解け

(1) $xy' = x + y$

(2) $y' = \frac{y^2 - x^2}{2xy}$, $y(1) = 3$

(3) $(x - y) \cdot y' + x + y = 0$

(4) $xy' = y + x \cdot \tan \frac{y}{x}$, $y(1) = \frac{\pi}{2}$

(5) $xy' = \sqrt{x^2 + y^2} + y$ (ヒント: $t = u + \sqrt{u^2 + 1}$ とおく)

② 次を解け

(1) $y' = \frac{x - y - 1}{x - 2y - 1}$

(2) $y' = \frac{2x - y + 1}{x - 2y + 5}$

解答

$$\text{II (1)} \quad y' = 1 + \frac{y}{x} \quad \text{よ) } u = \frac{y}{x} \text{ とおけば 公式 2 5')}$$

$$u' = \frac{1}{x}(1+u-u) = \frac{1}{x} \quad \text{よ) } \text{公式 1 5')}$$

$$\int 1 \cdot du = \int \frac{1}{x} dx$$

$$u = \log x + C$$

$$e^u = e^C \cdot x = C \cdot x \quad (e^C \rightarrow C)$$

$$e^{\frac{y}{x}} = C \cdot x \quad \text{よ) } \text{公式 2 5')}$$

$$(2) \quad y' = \frac{y^2 - x^2}{2xy} = \frac{\left(\frac{y}{x}\right)^2 - 1}{2 \cdot \frac{y}{x}} \quad \text{よ) } u = \frac{y}{x} \text{ とおけば 公式 2 5')}$$

$$u' = \frac{1}{x} \left(\frac{u^2 - 1}{2u} - u \right) = \frac{1}{x} \cdot \left(\frac{-u^2 - 1}{2u} \right) = -\frac{1}{x} \cdot \frac{u^2 + 1}{2u}$$

よ) 公式 1 5')

$$\int \frac{2u}{u^2 + 1} du = -\int \frac{1}{x} dx$$

$$\log(u^2 + 1) = -\log x + C$$

$$u^2 + 1 = e^C \cdot \frac{1}{x} = C \cdot \frac{1}{x} \quad (e^C \rightarrow C)$$

$$\frac{y^2}{x^2} + 1 = C \cdot \frac{1}{x}$$

$$x^2 + y^2 = C \cdot x \quad \text{よ) } \text{よ) } y(1) = 3 \text{ 5')}$$

$$1^2 + 3^2 = C \cdot 1 \quad \text{よ) } C = 10 \text{ を得る}$$

$$\therefore x^2 + y^2 = 10 \cdot x \quad \text{である.}$$

$$(3) \quad y' = \frac{-x-y}{x-y} = -\frac{1+\frac{y}{x}}{1-\frac{y}{x}} \quad \text{よ) } u = \frac{y}{x} \text{ とおけば"公式2"よ)$$

$$u' = \frac{1}{x} \left(-\frac{1+u}{1-u} - u \right) = \frac{1}{x} \left(\frac{u^2 - 2u - 1}{1-u} \right) = \frac{-2}{x} \left(\frac{u^2 - 2u - 1}{2u - 2} \right)$$

よなる \therefore 公式1よ)

$$\int \frac{2u-2}{u^2-2u-1} du = -2 \cdot \int \frac{1}{x} dx$$

$$\log(u^2 - 2u - 1) = -2 \log x + C$$

$$u^2 - 2u - 1 = e^C \cdot \frac{1}{x^2} = C \cdot \frac{1}{x^2} \quad (e^C \rightarrow C)$$

$$\frac{y^2}{x^2} - \frac{2y}{x} - 1 = C \cdot \frac{1}{x^2}$$

$$y^2 - 2xy - x^2 = C \quad \text{よなる}$$

$$(4) \quad y' = \frac{y}{x} + \tan \frac{y}{x} \quad \text{よ) } u = \frac{y}{x} \text{ とおけば"公式2"よ)$$

$$u' = \frac{1}{x} (u + \tan u - u) = \frac{1}{x} \cdot \tan u \quad \text{よなる } \therefore \text{公式1よ)}$$

$$\int \frac{\cos u}{\sin u} du = \int \frac{1}{x} dx$$

$$\log(\sin u) = \log x + C$$

$$\sin u = e^C \cdot x = C \cdot x \quad (e^C \rightarrow C)$$

$$\sin \frac{y}{x} = C \cdot x \quad \text{よなる.}$$

$$\therefore \text{よ) } y(1) = \frac{\pi}{2} \quad \text{よ) } 1 = C \cdot 1 \quad \text{よ) } C = 1 \text{ である}$$

$$\therefore \sin \frac{y}{x} = x \quad \text{が 解である.}$$

$$(5). y' = \sqrt{1 + \left(\frac{y}{x}\right)^2} + \frac{y}{x} \quad \text{よ} \quad u = \frac{y}{x} \quad \text{と} \text{お} \text{け} \text{ば} \text{公} \text{式} \text{2} \text{よ} \text{)} \quad \text{と} \text{な} \text{る}$$

$$u' = \frac{1}{x} (\sqrt{1+u^2} + u - u) = \frac{1}{x} \cdot \sqrt{1+u^2} \quad \text{と} \text{な} \text{る} \quad \therefore \text{公} \text{式} \text{1} \text{よ} \text{)} \quad \text{と} \text{な} \text{る}$$

$$\int \frac{1}{\sqrt{1+u^2}} du = \int \frac{1}{x} dx \quad \dots \text{と} \text{な} \text{る}$$

$$\therefore t = u + \sqrt{u^2+1} \quad \text{と} \text{お} \text{け} \text{よ} \text{う} \quad u = \frac{t^2-1}{2t} \quad \text{よ} \text{)} \quad \text{と} \text{な} \text{る}$$

$$\sqrt{u^2+1} = \sqrt{\frac{(t^2-1)^2}{4t^2} + 1} = \frac{t^2+1}{2t} \quad \text{と} \text{な} \text{る} \quad \text{ま} \text{た}$$

$$du = dt \cdot \frac{4t^2 - 2t^2 + 2}{4t^2} = dt \cdot \frac{t^2+1}{2t^2} \quad \text{と} \text{な} \text{る} \quad \text{よ} \text{)} \quad \text{と} \text{な} \text{る}$$

$$\int \frac{1}{\sqrt{1+u^2}} du = \int \frac{2t}{t^2+1} \cdot \frac{t^2+1}{2t^2} dt = \int \frac{1}{t} dt = \log t$$

$$= \log(u + \sqrt{u^2+1}) \quad \text{と} \text{な} \text{る} \quad \therefore \text{よ} \text{)} \quad \text{と} \text{な} \text{る}$$

$$\log(u + \sqrt{u^2+1}) = \log x + C$$

$$u + \sqrt{u^2+1} = e^C \cdot x = C \cdot x \quad (e^C \rightarrow C) \quad \text{と} \text{な} \text{る}$$

$$y + \sqrt{x^2+y^2} = C \cdot x^2 \quad \text{と} \text{な} \text{る}$$

$$\square (1). \begin{cases} x - y - 1 = 0 \\ x - 2y - 1 = 0 \end{cases} \quad \text{と} \text{し} \text{て} \text{連} \text{立} \text{方} \text{程} \text{式} \text{を} \text{解} \text{く} \text{と} \quad \begin{cases} x = 1 \\ y = 0 \end{cases} \quad \text{と} \text{な} \text{る}$$

$\therefore X = x - 1, Y = y$ とおけば"与式"は

$$Y' = \frac{X - Y}{X - 2Y} = \frac{1 - \frac{Y}{X}}{1 - 2\frac{Y}{X}} \quad \text{と} \text{な} \text{る} \quad u = \frac{Y}{X} \quad \text{と} \text{お} \text{け} \text{ば} \text{公} \text{式} \text{2} \text{よ} \text{)} \quad \text{と} \text{な} \text{る}$$

$$u' = \frac{1}{X} \left(\frac{1-u}{1-2u} - u \right) = \frac{1}{X} \left(\frac{2u^2 - 2u + 1}{1-2u} \right) = -\frac{2}{X} \cdot \frac{2u^2 - 2u + 1}{4u - 2}$$

となる \therefore 公式 1 よ)

$$\int \frac{4u-2}{2u^2-2u+1} du = -2 \cdot \int \frac{1}{x} dx$$

$$\log 2u^2-2u+1 = -2 \log X + C$$

$$2u^2-2u+1 = e^C \cdot \frac{1}{x^2} = C \cdot \frac{1}{x^2} \quad (e^C \rightarrow C)$$

$$2Y^2-2XY+X^2 = C.$$

$$2y^2-2xy-2y+x^2+2x+1 = C$$

$$2y^2-2xy+2y+x^2-2x = C \quad (C-1 \rightarrow C) \quad \text{となる}$$

$$(2) \begin{cases} 2x-y+1=0 \\ x-2y+5=0 \end{cases} \quad \text{を解くと} \quad \begin{cases} x=1 \\ y=3 \end{cases} \quad \text{となる}$$

$\therefore X=x-1, Y=y-3$ とおけば、与式は

$$Y' = \frac{2X-Y}{X-2Y} = \frac{2-\frac{Y}{X}}{1-2\frac{Y}{X}} \quad \text{とできる.} \quad \therefore \text{公式 25')} \quad u = \frac{Y}{X} \quad \text{とおけば}$$

$$u' = \frac{1}{X} \cdot \left(\frac{2-u}{1-2u} - u \right) = \frac{1}{X} \left(\frac{2u^2-2u+2}{1-2u} \right) = \frac{-2}{X} \cdot \frac{u^2-u+1}{2u-1} \quad \text{となる}$$

\therefore 公式 15')

$$\int \frac{2u-1}{u^2-u+1} du = -2 \int \frac{1}{X} dx$$

$$\log(u^2-u+1) = \log X^{-2} + C$$

$$u^2-u+1 = e^C \cdot X^{-2} = C \cdot X^{-2} \quad (e^C \rightarrow C)$$

$$Y^2-XY+X^2 = C$$

$$y^2-6y+9 - xy + 3x + y - 3 + x^2 - 2x + 1 = C$$

$$y^2-xy-5y+x^2+x = C \quad (C-7 \rightarrow C) \quad \text{となる}$$